Deviation [sigma] Deviation [sigma] Flux

Deviation [sigma]

20

10

-10

-20

20

10

-10

-20

20

10

-10

-20

GX354-0_0P08808_W1_N02_200s.txt / MJD 51631.654248 / burstid= 363

? Grey line: exponential fit Peak flux: 3.598+/- 0.461 c/s/cm’ é
- } Black line: power law + gauss fit Fluence : 21.74+/- 3.52 c/cm? -
= Dashed line: power law . ) ) ) =
- H Duration: 12.11+/- 3.61s =
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; Power law fit é
= Power law index: -1.923+/- 0.377 (chi’-red= 0.83) 3
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—  Power law fit plus Gaussian (st.dev.= 23.65+/-11.50 s, fracgs= 0.31+/- 0.19) =
= Power law index: -2.879+/- 1.104 (chi’-red= 0.83) 3
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